DU BEd

Topic:- BED A

1) Read the passage given below and answer the following question:

Most of us think (erroneously) that writers just sit down and churn out a wonderful essay, story or poem in one sitting in a
flash of genius and inspiration. This is not true. Experienced writers use the writing process from start to finish to help them
write a clear document. If you do not reflect on your composition in stages and make changes as you develop it, you will not
see all the problems or error in it. Don't try to write an essay or story just once and leave the room. That's a mistake made
by novice writers and will be glaringly obvious to an experienced reader. Stay and look through your work. Reflect upon
what you've composed. Even better, use a writing process where you pre-write and plan, write a rough draft, organize
ideas, edit and proofread. Your writing will suffer the consequences of poor craftsmanship otherwise.

The author most likely wrote the paragraph in order to:

[Question ID = 12281]

1. explain the writing process to someone who has rarely experienced it.

[Option ID = 49122]
2. suggest that inexperienced writers use the writing process to craft their work.

[Option ID = 49123]
3. compare the thought process of a novice writer with that of an experienced writer.

[Option ID = 49124]
4, identify the components of the writing process and the best way to incorporate into a composition.

[Option ID = 49125]

2) Read the passage given below and answer the following question:

Most of us think (erroneously) that writers just sit down and churn out a wonderful essay, story or poem in one sitting in a
flash of genius and inspiration. This is not true. Experienced writers use the writing process from start to finish to help them
write a clear document. If you do not reflect on your composition in stages and make changes as you develop it, you will not
see all the problems or error in it. Don't try to write an essay or story just once and leave the room. That's a mistake made
by novice writers and will be glaringly obvious to an experienced reader. Stay and look through your work. Reflect upon
what you've composed. Even better, use a writing process where you pre-write and plan, write a rough draft, organize
ideas, edit and proofread. Your writing will suffer the consequences of poor craftsmanship otherwise.

Which step is not necessary for the writing process as explained in the passage?

[Question ID = 12282]
1. Draft

[Option ID = 49126]
2. Organise

[Option ID = 49127]
3. Edit

[Option ID = 49128]
4. Publish

[Option ID = 49129]

3) Read the passage given below and answer the following question:

Most of us think (erroneously) that writers just sit down and churn out a wonderful essay, story or poem in one sitting in a
flash of genius and inspiration. This is not true. Experienced writers use the writing process from start to finish to help them
write a clear document. If you do not reflect on your composition in stages and make changes as you develop it, you will not
see all the problems or error in it. Don't try to write an essay or story just once and leave the room. That's a mistake made
by novice writers and will be glaringly obvious to an experienced reader. Stay and look through your work. Reflect upon
what you've composed. Even better, use a writing process where you pre-write and plan, write a rough draft, organize
ideas, edit and proofread. Your writing will suffer the consequences of poor craftsmanship otherwise.

In the fifth sentence of the paragraph, the word ‘novice’ most nearly means:
[Question ID = 12283]
1. Neophyte

[Option ID = 49130]
2. Expert

[Option ID = 49131]
3. Professional

[Option ID = 49132]
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4. Knowledgeable

[Option ID = 49133]

4) Read the passage given below and answer the following question:

Most of us think (erroneously) that writers just sit down and churn out a wonderful essay, story or poem in one sitting in a
flash of genius and inspiration. This is not true. Experienced writers use the writing process from start to finish to help them
write a clear document. If you do not reflect on your composition in stages and make changes as you develop it, you will not
see all the problems or error in it. Don't try to write an essay or story just once and leave the room. That's a mistake made
by novice writers and will be glaringly obvious to an experienced reader. Stay and look through your work. Reflect upon
what you've composed. Even better, use a writing process where you pre-write and plan, write a rough draft, organize
ideas, edit and proofread. Your writing will suffer the consequences of poor craftsmanship otherwise.

In the last sentence of the paragraph, the antonym of the word "craftsmanship” is:

[Question ID = 12284]
1. Dexterity

[Option ID = 49134]
2. Ineptitude

[Option ID = 49135]
3. Adroitness

[Option ID = 49136]
4. Skilfulness

[Option ID = 49137]

5) Read the passage given below and answer the following question:

Most of us think (erroneously) that writers just sit down and churn out a wonderful essay, story or poem in one sitting in a
flash of genius and inspiration. This is not true. Experienced writers use the writing process from start to finish to help them
write a clear document. If you do not reflect on your composition in stages and make changes as you develop it, you will not
see all the problems or error in it. Don't try to write an essay or story just once and leave the room. That's a mistake made
by novice writers and will be glaringly obvious to an experienced reader. S5tay and look through your work. Reflect upon
what you've composed. Even better, use a writing process where you pre-write and plan, write a rough draft, organize
ideas, edit and proofread. Your writing will suffer the consequences of poor craftsmanship otherwise.

This passage is narrated from the point of view of:

[Question ID = 12285]
1. teaching English to the learner

[Option ID = 49138]
2. teaching writing

[Option ID = 49139]
3. teaching the process of writing

[Option ID = 49140]
4. teaching reading and writing

[Option ID = 49141]

Topic:- BED B

1) Read the passage given below and answer the following question:

The Indian education system is one of the oldest education systems. Over a period of time, it has produced so many
geniuses. However, it faces a lot of problems that need to be sorted to let it reach its full potential. The biggest problem
which it has to face is the poor grading system. It judges the intelligence of a student on the basis of academics, which is in
the form of exam papers. That is very unfair to students who are good in their overall performance but not that good at
specific subjects. Moreover, they only strive to get good marks not paying attention to understanding what is taught.
Furthermore, the contemporary education system focuses on theory more and lesser focus is given for practical. This makes
them run after the bookish knowledge and not actually applying it to the real world. Most importantly, the Indian education
system does not emphasize enough on the importance of sports and arts. Students are always asked to study all the time
where they get no time for other activities like sports and arts. As the Indian Education System is facing so many problems,
we need to come up with effective solutions so it improves and creates a brighter future for students. We can start by
focusing on the skill development of the students. The schools and colleges should not only focus on the ranks and grades
but also on the analytical and creative skills of learners. In addition, subjects must not be merely taught theoretically but
also inclusion with practical implications. This will help in a better understanding of the subject without them having to mug
up the whole thing due to lack of practical knowledge. Also, the syllabus must be updated with the changing times and not
follow the old age pattern.

According to the paragraph, which of the following is correct about the current Indian education system?

[Question ID = 12286]
1. The Indian education system focuses on theory more and lesser focus is given for practical.
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[Option ID = 49142]
2. The Indian education system focuses on practical more and lesser focus is given for theory,

[Option ID = 49143]
3. The Indian education system focuses neither on theory nor practical.

[Option ID = 49144)
4. The Indian education system focuses both on theory and practical.

[Option ID = 49145]

2) Read the passage given below and answer the following question:

The Indian education system is one of the oldest education systems. Over a period of time, it has produced so many
geniuses. However, it faces a lot of problems that need to be sorted to let it reach its full potential. The biggest problem
which it has to face is the poor grading system. It judges the intelligence of a student on the basis of academics, which is in
the form of exam papers. That is very unfair to students who are good in their overall performance but not that good at
specific subjects. Moreover, they only strive to get good marks not paying attention to understanding what is taught.
Furthermore, the contemporary education system focuses on theory more and lesser focus is given for practical. This makes
them run after the bookish knowledge and not actually applying it to the real world. Most importantly, the Indian education
system does not emphasize enough on the importance of sports and arts. Students are always asked to study all the time
where they get no time for other activities like sports and arts. As the Indian Education System is facing so many problems,
we need to come up with effective solutions so it improves and creates a brighter future for students. We can start by
focusing on the skill development of the students. The schools and colleges should not only focus on the ranks and grades
but also on the analytical and creative skills of learners. In addition, subjects must not be merely taught theoretically but
also inclusion with practical implications. This will help in a better understanding of the subject without them having to mug
up the whole thing due to lack of practical knowledge. Also, the syllabus must be updated with the changing times and not
follow the old age pattern.

According to the paragraph, what is the major problem faced by the Indian education system?

[Question ID = 12287]

1. Lack of creativity

[Option ID = 49146]
2. Too much emphasis on academics

[Option ID = 49147
3. Stuck in old time

[Option ID = 49148
4. Poor grading system

[Option ID = 49149]

3) Read the passage given below and answer the following question:

The Indian education system is one of the oldest education systems. Over a period of time, it has produced so many
geniuses. However, it faces a lot of problems that need to be sorted to let it reach its full potential. The biggest problem
which it has to face is the poor grading system. It judges the intelligence of a student on the basis of academics, which is in
the form of exam papers. That is very unfair to students who are good in their overall performance but not that good at
specific subjects. Moreover, they only strive to get good marks not paying attention to understanding what is taught.
Furthermore, the contemporary education system focuses on theory more and lesser focus is given for practical. This makes
them run after the bookish knowledge and not actually applying it to the real world. Most importantly, the Indian education
system does not emphasize enough on the importance of sports and arts. Students are always asked to study all the time
where they get no time for other activities like sports and arts. As the Indian Education System is facing so many problems,
we need to come up with effective solutions so it improves and creates a brighter future for students. We can start by
focusing on the skill development of the students. The schools and colleges should not only focus on the ranks and grades
but also on the analytical and creative skills of learners. In addition, subjects must not be merely taught theoretically but
also inclusion with practical implications. This will help in a better understanding of the subject without them having to mug
up the whole thing due to lack of practical knowledge. Also, the syllabus must be updated with the changing times and not
follow the old age pattern.

According to the paragraph, how the India education systems judge the intelligence of a student?

[Question ID = 12288]

1. Based on Analytical and creative skills

[Option ID = 49150]
2. Based on academic performance in exam papers

[Option ID = 49151]
3. Based on involvement of students in classroom activities

[Option ID = 49152]
4. Both 1and 2

[Option ID = 49153]

4) Read the passage given below and answer the following question:
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The Indian education system is one of the oldest education systems. Over a period of time, it has produced so many
geniuses. However, it faces a lot of problems that need to be sorted to let it reach its full potential. The biggest problem
which it has to face is the poor grading system. It judges the intelligence of a student on the basis of academics, which is in
the form of exam papers. That is very unfair to students who are good in their overall performance but not that good at
specific subjects. Moreover, they only strive to get good marks not paying attention to understanding what is taught.
Furthermore, the contemporary education system focuses on theory more and lesser focus is given for practical. This makes
them run after the bookish knowledge and not actually applying it to the real world. Most importantly, the Indian education
system does not emphasize enough on the importance of sports and arts. Students are always asked to study all the time
where they get no time for other activities like sports and arts. As the Indian Education System is facing so many problems,
we need to come up with effective solutions so it improves and creates a brighter future for students. We can start by
focusing on the skill development of the students. The schools and colleges should not only focus on the ranks and grades
but also on the analytical and creative skills of learners. In addition, subjects must not be merely taught theoretically but
also inclusion with practical implications. This will help in a better understanding of the subject without them having to mug
up the whole thing due to lack of practical knowledge. Also, the syllabus must be updated with the changing times and not
follow the old age pattern.

According to the paragraph, which of the following statement is not correct?

[Question ID = 12289]
1. Students are not paying attention to conceptual understanding

[Option ID = 49154]
2. The syllabus must be updated with the changing times

[Option ID = 49155]
3. The Indian education system emphasizes enough on the importance of sports and arts

[Option ID = 49156]
4. The Indian education system makes them run after the bookish knowledge

[Option ID = 49157]

5) Read the passage given below and answer the following question:

The Indian education system is one of the oldest education systems. Over a period of time, it has produced so many
geniuses. However, it faces a lot of problems that need to be sorted to let it reach its full potential. The biggest problem
which it has to face is the poor grading system. It judges the intelligence of a student on the basis of academics, which is in
the form of exam papers. That is very unfair to students who are good in their overall performance but not that good at
specific subjects. Moreover, they only strive to get good marks not paying attention to understanding what is taught.
Furthermore, the contemporary education system focuses on theory more and lesser focus is given for practical. This makes
them run after the bookish knowledge and not actually applying it to the real world. Most importantly, the Indian education
system does not emphasize enough on the importance of sports and arts. Students are always asked to study all the time
where they get no time for other activities like sports and arts. As the Indian Education System is facing so many problems,
we need to come up with effective solutions so it improves and creates a brighter future for students. We can start by
focusing on the skill development of the students. The schools and colleges should not only focus on the ranks and grades
but also on the analytical and creative skills of learners. In addition, subjects must not be merely taught theoretically but
also inclusion with practical implications. This will help in a better understanding of the subject without them having to mug
up the whole thing due to lack of practical knowledge. Also, the syllabus must be updated with the changing times and not
follow the old age pattern.

According to the paragraph, what would be the effective solution to improve and create a brighter future for students?

[Question ID = 12290]
1. The schools and colleges focus solely on the ranks and grades.

[Option ID = 49158]
2. The schools and colleges focus on admission on the basis of merit.

[Option ID = 49159]
3. The school and colleges should not teach subjects practically.

[Option ID = 49160]
4. The schools and colleges focus on the development of the analytical and creative skills of learners.

[Option ID = 49161]

Topic:- BED C

1) fr=ferfys maia 1 92 sty sa g srgriea e g & o< d:

uF gega A tw et 94t e 1 @rs 797 8 FFeg Saf €17 §1 98 79 7@ & FAr779 g1 978 g wvadt g | ora =wizm v
TfE & Agar s 3w F Pt @ ¢ go7 71 947 fay, 98 =T € areafys dega =2 g shesad dama g aud gdwr @
FEAFATATA ZTATH T AL &, I8 AT A &1 AT a7 7« & 97 A7, G6FT 781 Fgar a5a7| F g s sgrgeowr o | =gza «
TEETHN o ® fagTed w7 awfAsw T g @57 9197 971 st F argHF g w1 94FF vy w1 7w’ sgew @ gearsdw
#/ a1 gfcfura g &1 T 399 a9 I8 T of 9 F 1A F7ATH 977 § A s g auiRa wr @ it g frgw aa &
Hrfo® frarT & fRrardT 1 g 1 gy afys av7 99 €1 58 99; 7 g raar aega 781 58 953 | 0T §7 afaswre #
FETIAT TS HT STTAT HT TH T TF FTI7 ET| L G477 % ATASHITH q775 19507 § 97 797 TOCHT GAQRE T T 7

Aoy gra @l a7 Feuar g Iq argdt Y gwr ¥ gur g, Rrawrgadwr g, afvr S : -
e ; : Tt Cofl8kedunia
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® FAAATT T FT 3GAT 2, T ITFT Baw gaforg ATz A srdt #71% g ora7 # forg wRara § 971 srfaT g ardt w2 qre #47
22 9T A AT TT TFA FT TSFT ALY F1 Ao 1 9471 T &1 T 777 G AT T 7 19 T« TAT ATHT FF 47809 Goqa
g fazear adf &5 57! AT TETATFT O T2T F 9 gH VF gegd arafwgy & € farar &, radt Saa7 9 g 9 Hfys sroo
HT 81 IHT9 7477 TFT 8, Freg suwT 18 fRear gd adiivay & « fyar g, Sregi? aer-fRras w1 5t atfos oo & adfiga
EIHT ALY, af°F ITH U7 AT FT FET ATHIA D T HTX0 ITH FFAT G| TT F T FT I@FLA T AFA ITAT AATHT AT 30 B

TIF &7 VAT & 77 qEFat o7 |

-HET WAL FIAATAT
weqa o H oo Awfw /@ afwwrw ...

[Question ID = 12291]
1. Foraeft afs srqam 5o Bas 5 Bl ff ao qor a7 2dw B 2

[Option ID = 49162)]

2. ST FATT T U A9AT £
[Option ID = 49163]

3. W "o wEAT forgar s g

[Option ID = 49164]
4, T AT T AT T R

[Option ID = 49165]

2) fawfefyg meta w1 9 v g9 o< srarfea ffrw wa 2 g9

uF gega AW Frdt 777 =tw 1 s a7 8; g SaF 779 §7 98 quA g & FA7479 & vy gv wvadt gl Sraw =;tw Ay
gfz & waar 398 A5 F AT I 70 727 w1 297 Py, 9 = @ areafas 9o =f+ & stesaf g g s qdwr &
TFEAATATA BT ATH BT TL 8, T8 AU [A &1 W1 1T 7 994 & a7 A7Q, e[ & HgAT aav| ¢F g fF gyrgeor o' | =g 1
nEcaTey o ® fagrea &1 anfswre fRaTl ag 57 717 971 At P arg s o w1 9¥fas Favy w1 Fwrdt gz @ geearadw
8 a1 afcfyra 2 &t %7 398 a1y 38 s oft 93 F 1T F7A77 977 & B sgeT g iR @ @ R g sfrgw arwr &
#1fa® frara & frardT &7 sgea €1 av a7 afys g7 wo € 58 99, 7 g oaar degq 781 g aaa | T 7 wfaswe /
FETIAT T Y STTAT FT TF FTOT TF FTI0 FT GE g1 & swfyswre & gqrag oftarsw & a99 997 a0 F#7 qor+ #7 v3fa w7
frdw gra Tl 77 FeqAr g 3@ swgHt F1 Prasrte 9w g, Rrasraadwr g, afeT og ag g suwro F =2 AOrargaw
F TAHATT AT FT 3GAT§, T ITRT Faw gafOC ATg 7€ swrdt #¥7%F 7g o177 # forg R & 91 srfaT ag Ardt war ar« #9471
2?2 AT A AT TTTHA A1 T=FT ALST B eI FT TAAT 2T g | TT AT A AT a7 &7 A I AT LAT ATAT ST 7879 GER T
¢ frzear €T ¥ 5T FATE AF¥IATFT T TST A gH U deqa avarwgy & g1 Frar g, At a7 9w sqa «ifas st
FT & I9TT 7977 BT 8, v s 517 fRear g aifygy & o« frar &, frgia aea-fAaw 71 frdt atfos S & gefiga
BIHT AET, T IT® 97 A KT AT GEHA D BT FTCUATH FFAT I T T FTIG@HFC T 7 GFA ATAT HATHT THT 3T &
T &TUAT T TIH [FHar a7 |

-AET AT FIEATIA
foreg oo gt & arfassear S argra e T wE E, ...

[Question ID = 12292]
1. Hd 4 79 TH1 F 9% &

[Option ID = 49166]
2. A A AEd §, 9 9T Taf

[Option ID = 49167]
3. AET 2T AT 8, T HEEA ARl

[Option ID = 49168]
4. F AT E aES g, ol T dega

[Option ID = 49169]

3) fawfafas weria 1 9 st 39 a7 srgrfeg e 99 2 g9 e

uF gega g et 94t e 1 @rs 77 8; Fheg SaFt €977 §7 98 0 gasr & JAr779 &1 9vH g sradt g1 ora swizw a6r
gfg ? stgar sas s 7 fdt fF 7y as7 513907 fora, a5 == & areafas dega =fw ¢ sheoafr dam @ qo= gd= &
FE ATTATE T ATH BT TE ], € AU AT AT AT ¥ 757 &t &Y 977 70, dega 7 297 9971 0F swg fos Iqrgeowr & | sgeq =
qEcareu o # fUETea F71 afAsH1 FFaT| a8 o7 71797 971 3 & arg s ga w71 91fas e w1 Rt sgea & gearsda
q arofctfa g & afFT oud arg sd st At s aral sT A7 wTH a8 sgeq arag iR w@ri @ @t aedrgu s 2
qifo® farara @ frardT &1 sgea 1 avar oy av7 9o € 58 99; 70 =geq raar dega 781 Fg 9957 | T &7 avfaswe /
FITIAT T HTSATAT HT TH FTOT TH FTIO ET| T GT7 & ATTSHITH A7 ATAMST §F 97 79T AT HT A7 A7 T T
fAdw gra @l o9 wegar Ffvg 39 gt #1 Srawr vz g g, Rrawraq dar g, AT a7 97 g srwrg F A= v gaw v
F AAHIATT ATU FHT IGAT 8, TTSHFT FA THIT A1 AT awdT F¥T17% T A7 # forw wamw g #1 awfaT ag ArdT 927 979 947
D T AT TTTHA 1 ToFT AT 1 Geq{d F1 AAAT @1 ¢ 1 T AL EA ;T 77 F7 A 9T AT AT ATHT AT ITo09 6o
g frsear €T 5 5T FATH T¥IATHT CFH T2T A H U dega anatHgy & g frear g, At a7 9 sqa sifas sreot
FTET IATT ¥GTH TZT &, Foheq So®T 1 fgear g# a«ty=t & «1 frar g, Fregi? asg-fady 7 et afas S @ adfga
THT ALY, % ITR qU7 AT FT ggT G F & Frew 7v7 P 21 Tra # a1 FY QE@FT T F7 gFA ITAT AT AR A B

AT ST UAT T TAH [&Hhat 47 |

-MET AT HIATATIA

AGFH F HLATT ST TITA T A7 FT AvfasHT< FFast ITom & gaw g?
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[Question ID = 12293]
1. = T 9 Ff T &7
[Option ID = 49170]
2. ST ATETT |7 FEA A A A

[Option ID = 49171]
3. =T I T T H

[Option ID = 49172]
4. = & sqTHAT FY GO H

[Option ID = 49173]

4) frwfafas maia $1 92 st gL argriea e o & Ia<

uF gega AW et 97t stw #1 @ a7 8 g SaF 9179 F1 98 07 7o / FAr479 E WA gy AvAt g | Forw =ww Ay
qfg & agarIas A3 7 5t @ 7u g7 51307 fgy, g FfF @ areales dega =afw g dirgadaa @ sd gdw |
FEAATATH ET ATH BT T §, TE 93 Q@ o1 Wi f7 %7 7« € 7 971G, (T T8 Fgar aoarl TH awrgfas sqrgeor &1 =gza 3
nEATRY O # frgrea 1 awfyewr< a7l 78 dega a7 971 s # argfAw g w1 wifas rave w1 et sgea @ geearado
] arofta g & afFT v gra g v At s aral FTA77 TR § Brd g g gt @i @ g st g s 9
s fasra & frerdT &1 =g 1 gy afrs ey wot € $8 99; 70 g Nraar dega 9 $8 953 | awrw w7 afyswre H
FIATTAT T AT STTAT HT TH ATUT TH FTI0 BT T G477 & AfasH1I / q772 dtarsw § 999 797 a8 w7 g7 7 vgfa w7
oy 19 TETI AT FeTAT FC IT AIHT F1 aFT ¥z wer 8, rwsraadar 8, dfva a7 ag g« svwro & = FArgaw A
® FAAATT I FT 2GAT 2, T ITFHT Baw gaforg A7 7€ srdt #71% g orav # forg s  #°71 srfaT ag ardt wor are #97
22 ¥ A AT TT TFA FT T3FT ALY F1 e #1 94T 7T &1 7T 70 G T T F7 19 9T« YAT ATHT FF 7809 Goqa
g frzear gt 5 gFAT| AT FEAATFT UF 2T H A gH UF geqwad avafwgy & & faar &, oradt Saar 97 ega 9T sroon
HT & IAT LT TZT &, Foeg Iu®T 17 fRear gd aiivay & 1 oyt g, Bregia aer-fRaw w1 5T /1fas oo & adfiga
THT ALY, Tf°H ITH FU7 AT FT AT ATHIA D T HT0 ITH FFAT 1 T F I FT I@FL A T AFA ITATHATT AT S B

FATT HT AT BT TIH [LEHat 47 |
-HET AT FIHATIT
AT avaar 7 7 fRear g a7 adfygt 8 o fyar g v,

[Question ID = 12294]
1. 7= Fer w1 e S & Fofrga 2w Far 2

[Option ID = 49174]
2. T 39T T AT F=T FT AEA R F al FO0T AH FATE

[Option ID = 49175]
3. @=x fRery 7 FA9 HAnTEe 9 G

[Option ID = 49176]
4, AT e G AT AT EFT FT AT w19 AT 2

[Option ID = 49177]

5) faefafya eria w1 9f st s g angrics e v g9 &

T gega ATw ot 74 e $ @ FLar g Foeg S G919 F7 98 AU {&F AT 1 O gF At g | Fovw =wfw
IfE & AgarI9s A5 Pt I 7U go7 w1 947 Poar, 78 = @ areafys dega =fw g e gt dam+ d o gdwr @
FEATTATAGI ATH BT TL 8, T8 AT TAS a1 W1 T 57 9=t & 7 q7Q, e[ &1 FigAT awav| ¢ g s IIrgeor & | /g7 1
qEcaTEy o ® fagTea w1 arfswre fFaTl g G557 7177 971 St P arg s g w1 9faw Fary w1 Fard gz @ geearad
& ar afcfyg & &t fFT 398 a1 38 st ot 3 F 1 F7A79 777 & B sgeT arag e @ @ R et gw arw &
wifa® frara & frardT w7 sgea € av a7 afys g7 9o & 98 99, 7 g oaar dega 781 g g9a | T 7 wfyswe /
FEITAT T HT STTAT HT TH AT TF FTI0 ET| L G717 F awfasw1T # q779 oftarsw & a99 97 a0 F7 qorr+ #17 wgfa w7
fardy gra Tl 77 Feqar FIrg @ argHt 1 Prasrdz 9w g, Drawsraadwr 8, AT o7 98 g swwry F A= AAITFIAHAOUT
F TAHAT AT FT 3GAT 2, T ITRT daw gfOC ATg TET st #7106 ag o177 # forg e & 91 srfaT ag Ardt war are #9471
2?2 TT LR AT TT TFA AT ST AT A1 g iy £ a7 7 21 ¥z 9 @ T a7 &7 7 9T A QA1 ATAT A ATETT HERT
g frzeaT 78t @5 aF97| gATS FEAATHT O 2T H A gH UH geqq arafwAt & & fawr 8, o Saar g ege |fas s
FTET WATT 9477 TBT &, fFvg 9% 519 fReqr g aifygt & o« e §, fregia aer-fRay 7 frdt afas S & aoftya
TrHT T8, 7% I7% aux FIX AT agT aegia ® g FTr G0 Frav 81 TT R 00 FY IGHTA T FA ATAT AATHT GHIR AT B

T &TUAT T TIH qEFhar a7 |
ST ATHE FIEeITTT
ey & AT 8.

[Question ID = 12295]

1. & F 9900 § 4297
[Option ID = 49178]
[Option ID = 49179]

3. TFE AR
[Option ID = 49180]

4, % & AT HAAT .
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India’s largest Student Review Platform

el



[Option ID = 49181]

6) fAwfarfas weria 1 9 st 39 a7 srgrfeg e 99 2 g9

7% fredt & sravfRrg ufirgs e aw w98 g1 fRar & o ssaaty geara 911 ag stepg a1 1947 & sufadt garg € srafoe
FTASI THFIOhT A 28 24T 7 sy wiafafera® w1 f=7 Frad 9 & 19 free w276 o7 (/9 stwwrfaearw, aaf, e s
Farer) ® wfafafy o arfyrs 21 guf sarar gu wioRT § 17 0F qferoft-gdff vfirare 2ot & wfyfafaat & o fRear fgr ot st
TH IUHT F ( T"/ FATT, T4 1247 T fHgaara) | 99 §79-979 97 17 i frsaq (471 7 €t sA=r-ar77 wfofHtamvss
/97), frgT o D qra qocrsar s wrfegT 2 o fgear frar) g v A of g fyear forar st fefoedts & o ggheat
w1 yfafafages ot o ol ganl g gzar 1 0T 733 g s ofydt oawe / a2 frar % oF garg a5 et age
Lr-fadar & 1t & oo @ Rras w98 s gEThiaat sreer e o711 397 g gfrar & syAare S a9-gR I a9 T
BT G AT gaAT rfagd 7uarsgl & §v adareT| fosaqa ® ST ara # AT AL gUFL ISR TACACHATHU T8 U A T F%
TLE D HIQed 7T HEA ATAT ATITC 1A @ 4 ATITD §% 7Cg 3 99477 2 | Pt ot aeg /@ 9T 1w % a5t sufegq g T
ardt AT TR frm st@ 1

TTHAE TET
ST TATA F ALATT FI9 § 3 Cfrgs R aa 989 F sy @ 997 7§ o qOreia 4

[Question ID = 12296]
1. T, A= & 397

[Option ID = 49182]

[Option ID = 49183]
3. HETT TS AT AT

[Option ID = 49184]
4, =t & g

[Option ID = 49185]

7) fawfafas waia 1 oF stz 39 o argrfg e 99 2 g9 e

7% fredt & st ufergs i aw o8 19 faar d o seaaty geara 911 95 Fi+p g a1 1947 #® snfadt aarg € srafoa
FTASI THFERT | 28 97 7 st whafaferay w1 ww7 Sradwt 91e7 & 19 free w20+ ot (9 stwarfaeary, a#f, e i<
Fare) ® wfafafy o arfye 21 gof A g w0k F g 0R aferoft-gdff ufirard 2ot # gfyfafaat & o fRear gy ot st
TH IUHT F (" FATT, T4 1047 AT FAga=77) | 399 r9-979 TOH {17 A fysaq (41 7 &€ sr=r-ar77 wioffamvss
A9T), ArfagT @O ® a9 qursgr HfT FrieaT F A7 fgear Fravl aow i ot guw fygeay oy o fefeedts @ o agfaat
w1 wfafafargess o g7 af= garl T8 g277 1 0T w538 g v afadt o5/ 772 foar % ‘o aarg % et ag<
Lr-fadar & it & qeree @ s w92 s gErgiaat sreer e o711 397 fE g oftrar & smAare U a9-g2 I a9 Ign
U S oY g @rfaras rorsat # @ Saare] fysaq v aray # N (Y gUFE agi A IATCACATHO 9 gC AN F%
TLE D FIQET TT HLA ATAT AIATE ITH @ F AT ITH 7% a¢g ® I047q 9 | et ot aeg /@ Su@v 1w ot agf swftaa ggaiT
ardt gragaT FT AR sT@ 1

AR TET
TEQA AT F AT ‘ThagT R aa $198% & §99 & 1T 7 F97 47 7

[Question ID = 12297]
[Option ID = 49186]

2. AfETa #9 F ws St 7 Fe e
[Option ID = 49187

3. @A AT 7 TAY B A9 A

[Option ID = 49188]
4, Frferedts & vs Fanfers gfaffadze o o g

[Option ID = 49189]

8) fawferfars warier Y o stz 39 aT srgrfeg e w9 2 g9

7% fyedt & srarforg wftras RE o sion e 59 fRar 7 us Sed @ty geanra 971 gg Fi=ha q19 1947 # snfadt garg € swarforag
FI T TTRha A 28 4T F a7y whafafarat &1 a=7 Sraw w17 # g9 e o256 o1 (9 swarfears, a1, frara st
Are) #® wfafafy o arfre 41 o8 srarar g FORw F 57 4R qferoft-gdff vfirard 2ot & gfrfafaat & o Rear fagr ot st
TH IUHT F ( T/ FA7T, T4 1947 AT FHgaar7) | 0% qr9-979 597 A7 < fsaq (971 7 &1 srwr-ar7w wiefwraaves
A9T), Hrfagg @ & 99 qursar KT Fricar F o« fgear Tavl g i A ot gaw fygear oy s fefaedts @ s ggfaat
w1 wfafafarges o gaq/ i garl T8 g7 1 0T 739 g uF afa+t w51/ 772 foar % ‘o aarg a7 fReedt ag<
-fadar & A & qorsr @r B 92 A gaErgiaat s oo 11 377 fdo-qF ¢firar & arare 0 a9-29 98 T8
U S o g arfaras worarsat # @ aaare] fysaq S aray F N (Y guFHE agi A IATCAC ATHT g gU AN ¥ FE
TLE D HILE 7T HEA ATHT ATITC 1A @ & ATITH F% 7L 3 99477 | Fret «t aeg / @7 1w v agf sufegq gy o
gt ArAgaT FT AT st@ 1

TH9% T
ST TATA * AT Cfarga o s+ # g  Aafafaa 7 @ s=ar Assradft @2 .
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i. TR AT 7% faedt agrdn-fda® i @ gasre gl

ii. ZFAror-gd TfraT & A AT AT ST LRI TTTEA U |

iii. gAY A TS S ATTIAITEATEA U |

iv. fsaad ATarai M TG gUFLTEIR IATCACATHUTGA LS |

[Question ID = 12298]
1. F=9 1, ii @7 iii
[Option ID = 49190]
2. Fa 1 #7 i
[Option ID = 49191]
3. Fa i #T i
[Option ID = 49192]
4, i, i, ifi @7 iv
[Option ID = 49193]

9) famfearfaa meia 1 9f e sg o amgThiea e ag = so¢ e

7% faedt # s cfiras Rt stk a 3@ fRar & ©F SeaadTg geana 911 Tg Fi=hq 7749 1947 & anfadt aarg & awarfsra
FTASI THFERT | 28 247 7 oo+ wiaffeaay w1 ww7 radw a1eg & 19 free 72+ 2ot (9 stwewrfaears, aof, e e
dute) # wfafafy o arfas 91 199 samar g s g ¥ 18 09 afaoft-gdf oforars 2ot & wiafafagt & «F fGear forar s o+t
TF IUETT F (S ATIAT, T A 19047 A< fygaara) | T8 979-979 39H A7 A fsgq (971 3 & sror-srew wfofafamoes
A9T), ArfaTT @9 & G qurrsar ;T FricaT 7 o fgEar Tavl aw i ot gaw fygear oy s fefeedts @ s agfaat
FT wiafAfard e wt a7 a0F gl T T297 FF TTTET FIT T TH 70HT 7w 7 772 77 % ‘vF a1 7% fRedt a5
L-fadar & 1t / oo @ oras w92 s gETgiaat sreer e o711 397 g gfirar & smAare S a9-g2 I a9 I8
T G Y gAT aIfarad 7uarsgl & M7 aqareT| fosqaqa ® v ard] & T (G gUFL IS A TATCACATHIU T84 U A F F%
TCE D FICET TT FLA ATAT ATHTC 919 @ F AT ITH 7€ T 3 I7A47H 9| et ot aeg | 97910 97 78 Iufdaa gu«T
gt gragaT T AR st@ 1

TIHA+% TET
ST TATT F AT ‘Cfdras o s+ a’ # frgw 2ot # wiafafast 1 g fRrarane

[Question ID = 12299]
1. 2539 %
[Option ID = 49194]
2. 2835
[Option ID = 49195]
3. 4539 &

[Option ID = 49196]
4, 15 =9 #

[Option ID = 49197

10) fawfefas Teia #1 9 st sw o srarica fAaw o & Iw¢ &

7% faedt & srarforg wftras Reaw sion e 59 fRar # uF sed @ty geanra 971 98 si7hq 719 1947 & sufadt garg § svqfora
FTTLI THFIOhT |/ 28 24T 7 oy wiafafera’ w1 f=7 Frad a9 & g9 free 274 2ot (/9 stwwrfaearw, a=f, e e
Fare) ® wfafafy o arfre 4 | 1@ srarar go sioRw & 57 0R gfaroft-gdff uftrard 2ot & gfyfafast & o Rear g ot st
TFH IO & (7 AATIT, T8 1A 19047 T fAgaar9) | T+ Fr7-979 T9F A1 A< fsaa (@1 3 € sror-arew wiowfawoss
A9T), rfaTg @9 & 99 qursar KT Friear A o7 fgear oravl a7 i ot gaw fygear oy o fefeedts & s agfaat
w1 wfafafardes #f gaf af= garl 39 9277 11 0T w38 g o afadt oawe / 772 foar % ‘o« aarg o5 fReedt ag<
Tar-fadar & 1T / g @1 frad w92 s garwgt aow gww 9T 399  fro-gF wfirar & g Frw IF-gIe aw ggq
U S Y T @rfaras roarsat # @rvw aaareT] fysaq & v aray F N Y gUFL g A IATC A ATHLT IEA AN FF
TIE D FICE TQTHLA ATAT ATYTE 1 @ F AT ITH F% 9L 3 9777 & | FHHT 7 atg | IQ@TATY A7 7gf swiregq gganT
ardt grAgaT T AT st@ 1

TIHA% TET
ITU T #® AT ‘vfiras R aw si=pa # Tfer faafafas 8 @ fFras 8

[Question ID = 12300]
1. AITHT THHT A

[Option ID = 49198]
2. THAZ [RT A

[Option ID = 49199]
3. qfed v A

[Option ID = 49200]

4, FuTF HET T
[Option ID = 49201] gCOI IegEd un iaE
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11) What was the theme of the World Cancer Day 2021, recently observed across the world?

gra gt # gfar w3 A aare e e fafyaw 2021 s1Rwgasg Fa191?

[Question ID = 12301]
1. I can and we can / & F7 4T § &7 20 F7 9%4 £

[Option ID = 49202]
2. | amand | will / # 2 & & F=1

[Option ID = 49203]
3. Life after Cancer /#47 F a7% F1 dta

[Option ID = 49204]
4. Together We can / T+ AT9 0 F7 %4 ¢

[Option ID = 49205]

Topic:- BED D

1) Consider the following statements:
A. The Rail Land Development Authority (RLDA) is a statutory body under the Ministry of Railways.

B. The RLDA has approved the redevelopment of New Delhi Railway Station under Transit-Oriented Development (TOD)
concept.

Which of the statements given above is/are correct?
frafafeas s9a1 o A=t w1

a. 3 L farsra arfars<or (RLDA) 3= o199 & aga U dar++ fAsra g
b. RLDA# zifdrz-arftdds Sqeade (TOD) AT4TIT % T8 7% faedt toa a7 d gafFAsw T aqir <t ¢

ST foT g F997 & | Y-8 LT 2/87

[Question ID = 12302]
1. Aonly / #F37

[Option ID = 49206]
2. Bonly / F7

[Option ID = 49207
3. BothAandB / AT B 3T

[Option ID = 49208]
4, Neither AnorB /aaTA#T T4TB

[Option ID = 49209]

2) Two finite sets have ‘m’ and ‘n’ elements respectively. The total number of subsets of first set is 56 more than the total
number of subsets of the second set. What are the values of m and n respectively?

T o7 aqgai € F9M: FTFTHTEEET ‘m’ T ‘n’ § IEF GHYT D IT-GHLGAT A1 AT HL GHYT B IT-GHLYIT 1 A&7
& 56 AfAFE m T n F FHT: FATHFT §?

[Question ID = 12303]
Vi 7,6

[Option ID = 49210]
2. 5,1

[Option ID = 49211]
3. 6,3

[Option ID = 49212]
4, 8,7

[Option ID = 49213]
3) If all the roots of the cubic equation x3+ax2-bx+c=0 are positive, then which of the following statements is true?

7fy uF Prara afiFTw x3+ax?-bx+c=0 F Tt 7F gA7eqF §, O AAfafya § @ staarsaaadr @

[Question ID = 12304]
1. All ‘a’, ‘b’ and ‘¢’ are negative for all cubic equations. /74T FErara wdfiFaor % fom, 7y ‘a’, ‘b’ 741 ‘¢’ =wITeH= &

[Option ID = 49214]
2. Only ‘a’ is negative for all possible cubic equations. /&t Frame adior % &0, Fa7 ‘a’ ®=omeas 2

[Option ID = 49215]
3. Only ‘b’ is negative for all possible cubic equations. /FdT F=rama oo % &0, F37 ‘b’ =T+ =

[Option ID = 49216]
4. Only ‘c’ is negative for all possible cubic equations. /74t Frama oo % o, F39 ‘¢’ F=orm= &
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[Option ID = 49217]

4) Rajan has three containers.

a. Cylindrical container A having radius r and height h,

b. Cylindrical container B having radius 2r and height ¥z h, and

¢. Cuboidal container C having dimensionsr xr x h

The arrangement of the containers in the increasing order of their Volumes is

T # 979 {97 dta ad7 8-

a. Bregrr ATFITE h FTAT TF STATHICTAT A,
b. frsar 2rfhx =TS % h ITATUF SFATHIC TG B, i<
c. fAgTairxrx haTATTF FATFILITAC &

ITTAAT F1 STH MATAT B HALATC AT HH H AT -
[Question ID = 12305]

1.

A, B, C

[Option ID = 49218]
B, C, A

[Option ID = 49219]
C,A B

[Option ID = 49220]
Cannot be arranged/=rafeaw 721 &7 =7 7

[Option ID = 49221]

5) Which of the following statements is not true?

faw forfaa & & st997T 97 &t 781 22[Question ID = 12306]

1.
2.
3.

Rational numbers are closed under addition. /77 fwamt 917 F siawia @97 & [Option ID = 49222]
Rational numbers are closed under division. /af&7 Hweard fFarsrT & siasta @97 £ [Option ID = 49223]
Rational numbers are closed under subtraction. /Mf¥&7 F=md srg%aa F sitasa 99 £ [Option ID = 49224]

4, Rational numbers are closed under multiplication. /TFHT #=gTd 09 F #7379 597 # [Option ID = 49225]

6) Which of the following statements about mass and inertia is correct?

FTHHTT AT Tgeq & a1 § fAufofag s977 § @ $t7 ars97 adt 2
[Question ID = 12307]

T

Mass of an object remains the same whether the object is on the earth, the moon or even in outer space but the inertia changes. /&t TJE T
FEIHTT AT TEAT & AIE A A5 TeAT 9 & A7 sgwr 97 Av avedt siafry #, vig wrew azw wmAn g

[Option ID = 49226]
Inertia of an object remains the same whether the object is on the earth, the moon or even in outer space but the mass changes. /T&#T a7+ F1 ==
TET TEAT £ A8 AF a5 TAT T § AT FFH1 U7 AT FEA FAE H, T AT T2A97 2

[Option ID = 49227]
Mass and inertia of an object remains the same whether the object is on the earth, the moon or even in outer space. /=T a+= 1 =407 v w2
T E TEAT & T8 FE F5 TAT 9 & 7 F2T 0 AT A Aty #

[Option ID = 49228]

Both Mass and inertia of an object would change when an object is taken from the earth to the moon or in outer space./s/3 T =1 F1 7T 7 F5AT
AT ATELT At § & SAT AAT § 7 A5 7 FSAAA A7 AT IA] a5 AT

[Option ID = 49229]

7) From the following statements, which is the most appropriate statement about magnetic field lines?

frafafaa w971 9 ], a7 @3 Tl & a1 F 999 ITLH FIT 1797 2

[Question ID = 12308]

1. The magnetic field lines of a magnet (or a solenoid) are like the electric dipole where these field lines begin from a North pole and escape to

infinity/==F (I gvrarer ateaTieraT) 1 Fa6ra g7 T B wrems f 99 270 § T2 T 97 T\ IS990 gF 7 9 2T § A ST i A9 At 8

[Option ID = 49230]
The magnetic field lines of a magnet {or a solenoid) are like the electric dipole where these field lines begin from a South pole and escape to

infinity. /==% (a1 sramer whearfeT) i g am van feg sreae £ avg 2t € w2 T g vand 2f@ g7 7 ared 2 2 i s i A st E

[Option ID = 49231]

The magnetic field lines of a magnet (or a solenoid) are different from each other in a way that in the electric dipole these field lines begin from a
negative charge and end on the positive charge or escape to infinity. /9@ (3T 9TaTa! THATET) T a1T &7 TG0 TH-FA7 F 27 798 H A7 2l &
T ziTaes STewe W o & 770 T T AT F GOA FET 2 ST AReEE AT 97 gHIH 20T E 47 S4T 7F AW 2

[Option ID = 49232]
The magnetic field lines of a magnet (or a solenoid) form continuous closed loops. /& (T gvrarar uivarfarern) & gafir s g

collegedunia:

India’s largest Student Review Platform



[Option ID = 49233]

8) A key of a mechanical piano played gently first time and then same key played again but much harder in the second
time. In the second case

u# 1A gt & s f5ft ogeft are iR @ qard ot s e odt £ w1 e @ qarararar &, afFw gud areaga e

| IATATITATE TF @ ATHA H.....[Question ID = 12309]
1. Sound will be louder but pitch will be the same/&af 317 & 21T w1 fi=r 9w Frft [Option ID = 49234]

Sound will be louder and pitch will also be higher/safs s & Zrft sfw = «f «f&= 2 [Option ID = 49235]
Sound will be louder but pitch will be lower/safs 5 grift == f=r F9r 2r5ft [Option ID = 49236]
Both loudness and pitch will remain unaffected/#@rars 1 S5 #fiv fisr 141 s v [Option ID = 49237]

bt B

9) Work is not done by a force on an object if

A. the displacement is zero

B. the force is zero

C. the force is opposite to the direction of its acceleration
D. the force and displacement are mutually perpendicular
Select the correct answer from the options given below:
et aeg g aw grar Frd g grarafy

A. faegTow g ¢

B. ¥ [T §

C. aF g %1 frar 2 fFroda g

D. 99 T fyeqryd qeq dqqa &

[Question ID = 12310]
1. Aand C only/Fa= A&7 C

[Option ID = 49238]
2. A,Band Donly/F37 A, BT D

[Option ID = 49239]
3. A, BandConly/F39 A, B =i C

[Option ID = 49240]
4, Conly / #97

[Option ID = 49241]

10) A sample of soil is mixed with water and allowed to settle. The clear supernatant solution turns the pH paper yellowish-
orange. Which of the following would change the colour of this pH paper to greenish-blue?

AITH TF TG FT 99 A fuf3a gy 797 997 18 Rav vz farvar wg=g afyosdt faeas pH o3 F1 a1 - At sTIar @

frafafaa & & F17 97 pH 93 3 L0 F7 g0 - ATAT FTIAT ? [Question ID = 12311]
Lemon juice/#iq 7+ [Option ID = 49242]
Vinegar/f&7=T [Option ID = 49243]
An antacid/wfa=%= [Option ID = 49244]
Comman salt/aTaer =37 [Option |D = 49245]

B T I

11) Given below are two statements:
Statement I: One mole of any substance contains 6.022 x 1023 atoms/molecules.
Statement II: Number of molecules of H;504 present in 100 mL of 0.02M, H;504 solution is 12.044 x 102° molecules.

In light of the above statements, choose the correct answer from the options given below:

= Y w7 R av g
F97 |: et ot gard F uF OrH F 6.022 x 102 qTHTY /o0 Fra §
F711: 0.02 M, HS04 fIwa & 100 mL fasraw & Iufeaa H S0, sropsit 37T 4T 12.044 x 1020 370y 27

IYUH FIAT % 989 # A= Ruae fFFewi & & a9t sgC 1999 #:1;

[Question ID = 12312]
1. Statement | is correct but Statement Il is not correct/#9= | @21 &, =T F97 || 981 781 2

[Option ID = 49246]
2. Statement | is not correct but Statement Il is correct/F9+ | 72T A=1 &, 77 T4+ || 787 &

[Option ID = 49247]
3. Statement | and Il both are correct/F497 | = F97 || THT 21 £
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[Option ID = 49248]
4. Statement | and Il both are not correct/F99 | 37 F99 || 91 921 721 2

[Option ID = 49249]

12) Two students performed the same experiment separately and each one of them recorded two readings of mass which
are given below. Correct reading of mass is 2.0 g. On the basis of given data, mark the correct option out of the following

statements.
Student Readings
(i) (i)
A 2.01 1.99
B 1.94 2.05

Y Frarf =t F o € DT FY o - o FATHTFLTF A T/ AGUIT AT FHATT $ 2.0 g G151 % 977 Fovw o Rrwferfaa

g A= fRrowuaiFst & srgr o fawfafaa saa1 § & 9 Awersraga fifag

IECIEi qTSIT &
(i) (ii)
A 2.01 1.99
B 1.94 2.05

[Question ID = 12313]
Results of both the students are neither accurate nor precise. /3T FE=TfHaT  TraaiF 7 a7 T¥[E £ {7 7 2r 7919 §  [Option 1D = 49250]

Results of both the students are accurate and precise. /@91 =4t % T3+ TivyE 7 7919 [Option ID = 49251]
Results of Student B are both precise and accurate. /f&=m4t B & =z wfryz ft & 4w 7ard Wit & [Option ID = 49252]
Results of Student A are both precise and accurate. /f=mdf A % arz=iF ufrerg oft & v 7ard & [Option ID = 49253]

B T

13) What could be the best method to separate a mixture of water, sand and salt?

o, 3T MTAAF F fHgo0 7 497 FF FTAIR ASFTTORTFATET AFATE ?

[Question ID = 12314]
1. Filtration—evaporation—condensation—handpicking / fea=a —aTeTT —&FTAT—7Z0T T4

[Option ID = 49254]
2. Sieving—threshing—evaporation—condensation/E9 —ATEAT T —HIFT

[Option ID = 49255]
3. Decantation—filtration—evaporation—condensation /= —fAaiEa Sarmad9a3T

[Option ID = 49256]
4, Evaporation—condensation—decantation—threshing / I —F9°9 —»FEATT—sgg47

[Option ID = 49257]

14) The green plants in a terrestrial ecosystem capture about % of the energy of sunlight that falls on their

leaves and convert it into food energy.

ety grfcRafadt a3 & g2 ot ofvva’ grer wrw € arelt st st w1 qwww % WM GTT St & gfafda 53 €

[Question ID = 12315]
PR |

[Option ID = 49258]
2. 10

[Option ID = 49259]
3. 50

[Option ID = 49260]
4, 100

[Option ID = 49261]

15) Rita and Mahesh observed an animal in their garden. Mahesh called it an earthworm while Rita said it was an insect.
Choose the character from the following which confirms that it is an insect.

AT AT AT R 97 (9 F CH S FHT IGT AR AT T4 A FgT, Taf®w AT 7 I8 ¢F *1e vg7 AAfafaa & @ afer g9 o

qf¥ ®Tar § f% 78 UF #12 & [Question ID = 12316]

. Body with jointed legs/#Tag= AT a1AT 117 [Option ID = 49262]

Body with little segmentation /9T=T fEaTsiia 9¥7 [Option ID = 49263]
Cylindrical body /&= =17 o717 [Option ID = 49264]

Bilateral symmetrical body /@ A9fs o717 [Option ID = 49265]

.h;l..-.!h-.l—-k
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16) Which among the following statements are true for sexual reproduction in flowering plants?

A. It requires two types of gametes.

B. Fertilisation is a compulsory process.

C. It always results in formation of zygote.

D. Offspring formed are clones.

Choose the correct answer from the options given below:

et oYyt # gy & A g9 @ R F Aefofas w9747 § @ fr9-91 597 adt 7
A. g% fT Y T ® gIEET T srgegwAT AT 2

B. frar=rw ww sfaard afrar

C. TR FOEaTSET A AT & L7 q7aT &

D. TWHR I+ qTHAT Hafa FA17 grat 8

= feT o et # & agt s Hq:

[Question ID = 12317]

T

A and D only/#a

[Option ID = 49266]
A, B and C only/F3=

[Option ID = 49267]
A, B and D only/#a

[Option ID = 49268]
A, C and D only/F3=

[Option ID = 49269]

17) Which specific joint type of human body can be shown with the help of the movement of the door?

aw%ﬁnﬁrﬂma'rﬁ aTa a0T # e fafire @y wwre w1 fRgrar T asa71 8?2[Question ID = 12318]

.hl.dhd-:

Pivotal joint/<Z1a A& [Option ID = 49270]

Ball and Socket joint/#=5% =feaat #fer [Option ID = 49271]
Fixed joint/#@== @& [Option ID = 49272]

Hinge joint/#=a1 &fr [Option ID = 49273]

18) Identify the correct path of urine in the human body.

A9 AOTH A D G AT &1 qg=474
[Question ID = 12319]

1.

Ureter — Kidney — Urinary bladder — Urethra /g=aT2t — a8 — T3197 — gFA7
[Option ID = 49274)]

. Urinary bladder — Urethra — Kidney — Ureter /TAT9T — TAATT — T — GFATRAT

[Option ID = 49275]

. Kidney — Ureter — Urinary bladder — Urethra/=% — gaaT2d1T — AT — HHATH

[Option ID = 49276]
Urinary bladder — Ureter — Kidney — Urethra/s=1919 — qAaTiEdl — & — TAATT

[Option ID = 49277]

19) Tincture of iodine is a 3

fesaTarardia & [Question ID = 12320]

1.

Solution of iodine in alcohol having iodine (solid) as the solute and alcohol (liquid) as the solvent/#=%r== # «ra1<1 #71 fAeaw, A ge=wrea (77)
formmas & =97 ¥ #iv A= (3) =T 2ET 2 [Option ID = 49278]

Solution of iodine in alcohol having iodine (liquid) as the solute and alcohol (liquid) as the solvent/#=%1g® ¥ arr=i= &1 Feras, fay gewea (779)
e & =1 # & arardte (799) e 2@ & [Option 1D = 49279]

Solution of iodine in alcohol having iodine (liquid) as the solvent and alcohol (liquid) as the solute/#=Tg® ¥ =i+ 1 Feas, ey ge=sea (779)
fEerg & =7 ¥ sfv smardie (799) fA=raE g & [Option 1D = 49280)

Suspensinn of iodine in alcohol having iodine (liquid) as the solute and alcohol (liquid) as the solvent/#=hge H a1t &7 A== (7eder), Soaw

FoATgd (A7=) FF=ras & =7 # &7 srardia (777) =g @ £ [Option ID = 49281)

20) Which one is odd from the following?

frufafaa & & st a1 frow 2[Question ID = 12321]

.h'I.A.IhJ—-k

. Stiffening/#=T F74T [Option ID = 49282]

Flock printing/m@==T gz [Option ID = 49283]

Napping/af¥ [Option ID = 49284]

Calendering and tentering/#= s 3T 2z [Option ID = 49285]
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21) In children, undernutrition occurs due to deficiency of food and energy is called as

FgT & Ao T Fof Y F9T | A TTAT AT FIT FEATAT 22[Question ID = 12322]

. Kwashiorkor/FaTfera=#17 [Option ID = 49286]
Marasmus/®7TEHH [Option D = 49287]
Hidden Hunger/fexft 7@ [Option ID = 49288]
Both 1 and 2/1 5 2 =T [Option ID = 49289]

.hl..\.lhl—nh

22) According to the National Education Policy 2020, teacher will be able to teach lessons in mother tongue or regional

language up to

TrETT fareaT {1 2020 # srgaTe foreas 5@ 4 % AT ATOT AT &7 w797 H FAwET ¥ WRA?

[Question ID = 12323]
1. Grade 3 /7= 3

[Option ID = 49290]
2. Grade 4 / 7= 4

[Option ID = 49291]
3. Grade 5/ a=5

[Option ID = 49292]
4, Grade /7= 8

[Option ID = 49293]

23) Who was honoured with Padma Bhushan in 2020 for the contribution in Sports?
AT 2020 § @97 & Fraara & g feasr o3 guor & gearfaa fEaraare

[Question ID = 12324]
1. M. C. Mary Kom/ma, #t. 7% #rg

[Option ID = 49294]
2. PV Sindhu/r. . fifg

[Option ID = 49295]
3. Ajoy Chakravorty/«=ra S#adl
[Option ID = 49296]
4. Tarundeep Rai/T=w=T 710

[Option ID = 49297]
24) The French revolution led to the end of

Wi ATET ®1 o ® HTC0 FFasT T gar?[Question ID = 12325]
. Republic state in France/@%i= ¥ o= 7157 [Option ID = 49298]
Hierarchy in France!,ﬂ‘n‘i‘ﬁﬁﬂ‘aﬁﬁﬂ? [Option 1D = 49299]

Monarchy in France/%# & 7Tsr5= [Option ID = 49300]

Democracy in France/wi® ¥ =7 [Option ID = 49301]

e bl B =

25) Match List | with List Il

List | List Il

A. Mahal |. Cultivation on planter’s own land
B. Nij Il. A unit of measurement of land
C. Ryot Il Cultivation on ryot’s lands

D. Ryoti IV, Peasant

E. Bigha V. Village

Choose the correct answer from the options given below:

rafrfaa gt isr gt 1 a gt s

gt 1 gt 1l

A. HETH I s AT F At i a7
adt

collegedunia:

India’s largest Student Review Platform



B. farsr I g FrarrFTgF THTE

c.qa . At wr gy ozad
D. ¥Tdt . fFaTe

E. e V. qTH- 998

A= feg e fAFeqt 7 & g sar g

[Question ID = 12326]
1. A-ILB-IV,C-1ILD-1,E-V

[Option ID = 49302]
2. A-V,B-IV,C-1l,D-1Il,E-|

[Option ID = 49303]
3.A-V,B-II,C-IV,D-1,E-1l

[Option ID = 49304]
4, A-N,B-IV,C-1l,D-1,E-V

[Option ID = 49305]

26) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R Assertion A
: Emperors need more resources than kings because empires are larger than kingdoms, and need to be protected by big

armies.

Reason R : Emperors need a larger number of officials who collect taxes.

In light of the above statements, choose the correct answer from the options given below

= Y Fa7 RU AT E: v F7 AfwFa7 A AT FTFOTR F §7 § d9« g7 7177 8-

Ff¥rwaT A: FUTET T TATHR AT TAAT A AT FHTGAT FT AALAFAT GIAT ¢ FAITH ATATST A5GV & 98 §IA 8, AT I=g 9T

BT gL G T FE AT AT9TFIAT AT 2

FTI R: I7¢ a1 AT’ FTTHZTFEA a7 FFAFTHAT & sreea gt @
ITUT FIAT B dad & 1= g ve Fweat & & afy sgvsr 37 fifvrg

[Question ID = 12327]

1. Both A and R are true and R is the correct explanation of A /A @i R 2191 #=7 £ =¥ R, A F a2t =qreay F7a1 &

[Option ID = 49306]

2. Both A and R are true but R is NOT the correct explanation of A /A 317 R 2191 777 § T4 R, A F7 721 =AT=AT 721 F74T &

[Option ID = 49307]
3. Aistruebut Ris false /AT AT R 77 &

[Option ID = 49308]
4. Aisfalse but Ristrue /Asagg zafFTRaT 2

[Option ID = 49309]

27) Why did the capital city of most mahajanapadas were fortified?

a. Forts were probably built because people were afraid of attacks from other kings and needed protection.

b. It is also likely that some rulers wanted to show how rich and powerful they were by building really large, tall and

impressive walls around their cities.

c. The land and the people living inside the fortified area could be controlled more easily by the king.
Choose the correct answer from the options given below:
sftrwtor wETIAaat #1 TwgrArst #1 Faradt w97 fRar TaT 9N

a. fr® araz gafey 970 7O FFTRE AT gL AT gHAT @ T @ ST I GIHAT Y ATLT 4T

b. FF TIST ATAT TTGTAT ® T AT Frerrer, S s waraaret e @t stavdt aqfa st afm sraeda w3 2

c. fat & sigx @A a1a A1T T I & 9T g =Tor TEAT {F AT * e 9L g AvAT F4AT

frafafaa # 8 gt Rrasa g4

[Question ID = 12328]
1. (a) only /#97 (a)

[Option ID = 49310]
2. (a) and (b) only /F3= (a) #i¥ (b)

[Option ID = 49311]
3. (a) and (c) only /337 (a) 317 (c)

[Option ID = 49312]
4. All (a), (b) and (c) /#+ (a), (b) #7 (c)

[Option ID = 49313]
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28) Which of the following is correctly matched?

a. South Indian Liberation Federation - Mahatama Gandhi
b. Bahishkrit Hitkari Sabha - Dr. B.R. Ambedkar

c. Satya shodhak Samaj - Jyotirao Phule

d. Shri Narayana Dharama - Shri Narayana Guru

Choose the correct answer from the options given below:

frafafaa d @ sta sra et g ?

a
b.
c
d

. gT3Y e« foratas $ea+ - HETHT I &t

afgsga fegsTd o971 - =¥, &t <. ardsse
. G ATYF GHTS - STIfaT gt

. AT ATAAT gF - AT AT [
= feT g fFwedt # 9 adt s giae
[Question ID = 12329]

1. (a), (b) and (c) only /F== (a), (b) @7 (c)

[Option ID = 49314]

2. (b), (c) and (d) only /3= (b), (c) &7 (d)

[Option ID = 49315]

3. (b) and (d) only /Fa= (b) ¥ (d)

[Option ID = 49316]

4, (a)and (c) only /349 (a) 47 (c)

[Option ID = 49317]

29) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : The places located west of Greenwich will be ahead of Greenwich time and those to the east will be behind it.

Reason R : The earth rotates from west to east.

In light of the above statements, choose the correct answer from the options given below

T A FITRCICE: TF FTATHFIT AHIIALFHF I FICTR ® ©TH A (6ATTATE

afrpaa A fafaw & oBara & Reyg egra M=fag awg @ sndt g sheFrgd # €, 3 792 a9
HTTU R: et ofaw & qF v e gadi gl

ITA® FIAT ® gad 7 9 oo st d § g ITTHFTIgaH:L|

[Question ID = 12330]

1. Both A and R are true and R is the correct explanation of A/A 3T R T 777 & A7 R, A T 721 =&=AT F7a1 &

[Option ID = 49318]

2. Both A and R are true but R is NOT the correct explanation of A/A =¥ R =11 771 £ @ R, A F1 9#1 == 78f #7471 2

[Option ID = 49319)]

3. Aistrue but R is false/A a7 2, AifFT R s &

[Option ID = 49320]

4, Ais false but R is true/A =7 &, afFA RaT &

.hl..n.ll'\-.'l—-lL

[Option ID = 49321]

30) Which one of the following minerals is contained in the Monazite sand?

frafafaa & @ w17 a1 a@fas Frararge Ta & 9797 147 82[Question 1D = 12331]

. Thorium/41 =g [Option ID = 49322]
Coal/=1=74=T [Option ID = 49323]
Uranium/T#f==% [Option ID = 49324]
Oil/m = 7= [Option ID = 49325]

31) Which of the following statements is/are correct about Tropical Cyclone in India?

a. Tropical cyclones originate over the Bay of Bengal and the Arabian Sea in India.

b. In tropical cyclones the expansion of the wind belt is about 20 to 200 km from the center of the storm.

c. The source of energy of the tropical cyclones is the latent heat of condensation.

Choose the correct answer from the options given below:

collegedunia:

India’s largest Student Review Platform



frafafaa & & #17 a1 597 Svosfed diy gwara # g adt /87

a. Seuwfed iy gwaTa #1 Ioufsy w13 & Sare Y @rEt aqT AT AIUCR At
b. SsuFfeadiT IFATal § THTT ® % & 797 Tzt w7 f4=q1T 20 & 200 fHerHrecas gar s
c. Isuwfed iy Iwaral #1 Fof 18T G977 76T H ST 7€ qw FeAT A AT 2

= faT o fyweat & @ g ITTHFT AT

[Question ID = 12332]
1. All (a), (b) and (c)/=4T (a), (b) #7 (c)

[Option ID = 49326]

2. (a) only/F=+ (a)
[Option ID = 49327]

3. (b) and (c) only/F= (b) &7 (c)
[Option ID = 49328]

4. (a)and (c) only/F37 (a) 17 (c)

[Option ID = 49329]

32) The ‘Doddabetta’ peak is situated on which of the following hill ranges?

fawfafaa & 9 frg ofq gaar 9T Srerdar firg fRaa §2[Question ID = 12333]
. Cardamom hills/#1E89 7 7Z17291 [Option ID = 49330]

Nallamala hills/a==\T=T #T 7217231 [Option 1D = 49331]

Nilgiri hills/= =+t &1 7=rf2=t [Option ID = 49332]

Anaimalai hills/s=ma=Ts #7 727172491 [Option ID = 49333]

.hLAJHv—-h

33) If the earth has been divided into twelve time zones of equal longitudinal expansion, then each zone would cover
of longitude.

Ffe gt & oiadig Reae sTaaT g a7 /71 # fFarfe frarema, arvas ax ATAL FT AT TAT [Question ID

= 12334]

10 degree/10 =37 [Option ID = 49334]
15 degree/15 T=3T [Option ID = 49335]
20 degree/20 =T [Option ID = 49336]
30 degree/30 =3t [Option ID = 49337]

o k) =

34) When was the election commission formed?

qArq AT FTTET FF § 3 T1?[Question ID = 12335]
1. 1950 February/1950 ®7=7T [Option ID = 49338]

2. 1950 January/1950 5377 [Option ID = 49339]

3. 1949 January/1949 =37 [Option ID = 49340]

4. 1949 February/1949 %7471 [Option ID = 49341]

35) Who gave the slogan of "Jai Jawan Jai Kissan" ?

" g FATT T PRI " F7 A7 FREA fEFT ?[Question ID = 12336]
. Jawaharlal Nehru/saTz7a17 7g= [Option ID = 49342]

Mahatma Gandhi/®zTeaT 77T [Option 1D = 49343]

Lal Bahadur Shastri/=T= 98157 yTTT [Option ID = 49344]

Indira Gandhi/zf==7T 71Tt [Option ID = 49345]

B T R s I

36) Which of the following fortnightly newspapers is run by the Eight Dalit Women in Chitrakut?

frrafofaa & & $17 a1 orférs gur=re o sws fera afg=Tst gror frage § 997 97147 §2[QuUestion ID = 12337]
Khabar Kimat/==¥ 97 [Option 1D = 49346]

Khabar Taza/@==* ar=T [Option ID = 49347

Khabar Takat/== a7 [Option |D = 49348]

Khabar Lahariya/@=¥ @=f#ar [Option ID = 49349]

.hr.».ah.:-—a

37) Consider the following statements on the practice of federalism in India. Identify those which hold true for
decentralisation after 1992

a. Local governments did not have any power or resources of their own.

b. It became constitutionally mandatory to hold regular elections to local government bodies.

c. The state governments are required to share some powers and revenue with local government bodies.

d. No seats are reserved in the elected bodies for scheduled castes, scheduled tribes and other backward classes.

Choose the correct answer from the options given below:

A1La | gavarg &1 797 9 Auferfag sgat e s sasgai st ageam sl @r 1992 s ars o= gi
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T GIHRTT & I7 oAt #1E afs arFarga adf @

Tt wwTd et & fre g fire gare samar @ artas w9 sfaard g rar

(S GLHTU FT EATATT GLEHIA AF1T B 979 17 afvngl T TS GTAT FH F1 AI9TFar grat g
(ST GIHTI &1 TATATG AT 6177 * ara g7 afkead < asrea 9ra71 33 1 AraeqHar gravr 8

IYUTFH FIAT® g9 A A2 R ae fFseai & & afr sgcsraga 5%

<span "="">

T

[Question ID = 12338]
1. (b) and (c) only/F=+ (b) =¥ (c)

[Option ID = 49350]
2. (a)and (c) only/3F= (a) &7 (c)

[Option ID = 49351]
3. (a) and (d) only/#F3+ (a) %7 (d)

[Option ID = 49352)]
4, (b)and (d) only/F3= (b) 317 (d)

[Option ID = 49353]
38) Who was the first Education Minister of Independent India?

AATT ATLT & Tgat forer #31 FT7 9?[Question ID = 12339]

1. B. R. Ambedkar/=t.#17. «=r=%+7 [Option ID = 49354]

2. Maulana Abdul Kalam Azad/®T=m=T H=g+ F19 AMAT% [Option ID = 49355]
3. N. Gopalaswami Ayyangar/T+. TIT==aTHT 49 [Option ID = 49356]

4. Shyama Prasad Mukherjee/¥aTaT waT2 §&51 [Option ID = 49357]

39) Which of the following statements is/are correct about stock exchange?

a. A market in which the securities of governments and public companies are traded.

b. A market in which the securities of governments and public companies are not traded.

c. A market which provides the facilities for stock brokers to trade company stocks and other securities.

d. A market which not provides the facilities for stock brokers to trade company stocks and other securities.

Choose the correct answer from the options given below:

iF TFga s & a1 ® fAufafaa & @ 77 a8 s97 987 /87

a. TF AT Rrad g s ardafas sofgay 1 wirgfat srsdacdare

b. TF aT=T Frad gt st ardsfas safaat a1 wfrgfgt sreQacadigiars

C. TF ATSATT T T{F JTHLL HT HIAT AL T a7 wfaqgfoat & =roe s e giFame s sarg

d. TF ITATT AT T1F FH A FT FIAT B 7 T arey wfaqg gy &1 =101 F7 37 iy vara adf swar g

ITU FIAT ® ol § 1 R re Fweai & @ @y swcar 999 *:%

[Question ID = 12340]
1. (a) and (c) only/F37 (a) =7 (c)

[Option ID = 49358]
2. (a), (b) and (d) only/F3 (a), (b) =¥ (d)

[Option ID = 49359]
3. (a) and (d) only/#F4F= (a) 7 (d)

[Option ID = 49360]
4. (b)and (c) only/F3= (b) =% (c)

[Option ID = 49361]

40) Public and private sectors are classified on the basis of which of the following options?

grastta® T sl &= w7 Araffae # 8 e Feer @ srare g a9ftga fRar ST a%a1 82[Question ID = 12341]
1. Employment conditions/t=#11= £ o1 [Option ID = 49362]

2. The nature of the economic activity/#rf¥F afafafa £+ o= [Option ID = 49363]

3. Ownership of enterprises/Z=r|T &1 18 [Option ID = 49364]

4. Number of workers employed in the enterprises/Z=rHT ¥ F13vF 4f@={ #1 #7471 [Option ID = 49365]

41) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : The Great Depression of 1929 affected the world.

Reason R : Demands of goods in the market were low, many factories were lying idle, and workers were thrown out of the
jobs.

In light of the above statements, choose the correct answer from the options given below
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A T FITRTTCE: tFFTATHFITA M TTATFIFTITURS €©TH A9« FHyTUaTe:

AfrFaTA: 1929 FT agrH i g sy yariya frarar

FTLAR: ATATIHA ATARTHITHHGT, FLHICATR a5 T8 §, gFFAFIFrarsigi @ s fRzragran
IYUTH FIAT # g9 A A= e ve fFwei & & adt svc 9979 LI

[Question ID = 12342]
1. Both A and R are true and R is the correct explanation of A/A %7 R 211 &= £ =¥ R, A 1 =75t =qm8a7 F7a71 &

[Option ID = 49366]
2. Both A and R are true but R is NOT the correct explanation of A/A #fiv R T 777 & #T#= R, A F1 521 =77 78 F7a71 &

[Option ID = 49367]
3. Aistrue but Ris false/A a7 &, a7 Rsm7 2

[Option ID = 49368
4. Aisfalse but Ris true/A ¥ AT #AFTR AT Z

[Option ID = 49369]

42) Which of the following factors may lead to a sick industrial unit?

a. Shortage of funds

b. Faulty financial management

c. Investment by the Foreign institutional investors (FlIs) in Indian industries
d. Foreign direct investment (FDI) in Indian industries

e. Lack of experience on the part of promoters

f. Technological factors including obsolete or improper technology

Choose the correct answer from the options given below:
frafafaa & 8 uF s @ rF g1 w7 FTC0 7 gFHAT]?

T HT FHT

Ty FBr<fta waae

AT It # 2 oft dearra fraar (Fils) gran faer
ATty I @7 7 2ot weaw 3o (FDI)
IS @1 AT A ALAT H1 FHAT

syt 1 e st afgs asdtd s

IqUTH FIAT ® 629 | 1= Aw a7 fFAweai & € 9 STCHT 497 5

[Question ID = 12343]
1. (a), (b), (c) and (e) only/F== (a), (b), (c) 37 (e)

oy T e Rl L

[Option ID = 49370]
2. (a), (b), (c), (d) and (f) only/F37 (a), (b), (c), (d) == (f)

[Option ID = 49371]
3. (a), (b) and (c) only/F3 (a), (b) &7 (c)

[Option ID = 49372]
4. (a), (b), (e) and (f) only/Fa= (a), (b), (e) =¥ (f)

[Option ID = 49373]

43) Which of the following is not considered as an intellectual property?

frafafag @ @ 58 s gt 7T arar 91971 22[Question 1D = 12344]
Patents/7Z= [Option ID = 49374]

Trade Agreement /=TT AFHTAT [Option ID = 49375]

Goodwill/5ZT1349T [Option ID = 49376]

Trademarks/Z=9T# [Option ID = 49377]

.h.wh.'l-ﬁ

44) Which one of the following countries participated in the Prarambh Startup International Summit held recently?

a. Bangladesh

b. India

c. Bhutan

d. Sri Lanka

Choose the correct answer from the options given below:

frafufaa & @ frg a3 gra Y § s sdw s=rdary stacida Rravasdas & 9 feraran
a. FIATIA
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b. HTIT
c. ¥HZTA
d. #fi=&sr
= faw o fFrweat & @ g s g

[Question ID = 12345]
1. (a), (b) and (c) only / 3 (a), (b) &7 (c

[Option ID = 49378
2. (b), (c) and (d) only / = (b), (c) ¥ (d

[Option ID = 49379]
3. (c) and (d) only / F3 (c) &7 (d)

[Option ID = 49380]
4, (a), (b) and (d) only / #3= (a), (b) ¥~ (d

[Option ID = 49381]

45) Which of the following statement is correct according to the Right to Education Act 2009?
forar srafysrr afafaay 2009 # sqa fAafafas g @ staarsgaaadr @2

[Question ID = 12346]
1. Provision of free and compulsory education to children between the age groups of 0 to 14./ 0 & 14 =1 =5 F TFT 71 o= T AT 9797 =71 T899

[Option ID = 49382]
2. All students will be given bicyeles. /=t frmfEat v arifre & srhft

[Option ID = 49383]
3. Ensure the entry of children of migrant families. / TATHT FZFa1 F FTAF1 F T9T 77 T2 FFAT a2

[Option ID = 49384]
4. Completely privatization of education. / firar 7 qofaar Fsfo fFar = &

[Option ID = 49385]

46) Choose one word that is suitable for both sentences:

1.0tto Neugebauer, the historian of ancient mathematics, told a story about the boy Einstein that he characterises as
but that seems fairly authentic.

2.She was a in her own lifetime.

[Question ID = 12347]
1. Fiction

[Option ID = 49386]
2. Hearsay

[Option ID = 49387]
3. Legend

[Option ID = 49388]
4, Tragedy

[Option ID = 49389]

47) ldentify the figure of speech used in the following sentence: Then his mother gave a cautionary call: “Come, child,
come, come on to the footpath.”

[Question ID = 12348]

1. Assonance

[Option ID = 49390]
2. Alliteration

[Option ID = 49391]
3. Simile

[Option ID = 49392]
4. Onomatopoeia

[Option ID = 49393]

48) =TT FT AL FATR?

[Question ID = 12349]

[Option ID = 49394]
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2. FTF T

[Option ID = 49395]
3. FETT

[Option ID = 49396]
4, FET gEr AT e a9 w5 g F9ar 2

[Option ID = 49397]

49) frafafaad @ Staararsgr aqa ?

[Question ID = 12350]
1. & #eam % &7 geem =7 arsa

[Option ID = 49398]
2. FH FF IAEF T AT

[Option ID = 49399]
3. FEET ATATSAT @ AT &

[Option ID = 49400]
4, FE FA (F=m=g FE @ e

[Option ID = 49401]
50) What is the case in the word ‘Swasti’ (‘€afa’)?

‘TR’ AT F AT H FIT FTLH a1 87

[Question ID = 12351]
1. Karm karak/#9 7%

[Option ID = 49402]
2. Adhikaran karak/=fe=oor 10

[Option ID = 49403]
3. Sampradan karak/H9=T FT9F

[Option ID = 49404]
4, Karan karak/sF7m F9F

[Option ID = 49405]

51) Which of the following sentences is not correct?

frafafaa arsat & & ®t7 a1 7797 @ T 2?[Question ID = 12352]
AT fierd 799 /HEATT e 79T [Option 1D = 49406)

T THgFTT A9 T=aq /qHT: TaeFr a9 g=afd [Option ID = 49407)
7E A9 /774 9: [Option ID = 49408]

T ETE A /E: @ FAfd [Option 1D = 49409]

B T

52) From which country ‘Kartar Singh Sarabha’ got his higher education?

FLAT g wareT / 37 farer fea 2o @ a8 #F 91?[Question ID = 12353]
. England/z7+= [Option ID = 49410]

America/sHFT [Option 1D = 49411)

Japan/=TI1= [Option ID = 49412]

Sri Lanka/=f==T [Option ID = 49413]

.hr..uh-.l--i

53) What is the meaning of 'Saggi'?

FIT HTFIT &4 §?2[Question ID = 12354]
Food/=THT [Option ID = 49414]

Beverage /77 [Option ID = 49415]
Jewellery/=mam [Option ID = 49416]

Book /=T [Option ID = 49417]

B T

54) What is the name of Abdul Haleem Sarar's novel?

A5G W AL & IT-ATH HT ATH F4T £?[Question ID = 12355]
1. Umrao Jaan Ada/39713 19 =127 [Option ID = 49418]

2. Firdaus e Bareen/f+=a-7-a%f [Option ID = 49419]

3. Ibnul waqt/=5= 7% [Option ID = 49420]

4. Fasana e Azad/wH™T1-T =iAT= [Option ID = 49421]

55) Which of the following is the poetry collection of Asrar-ul-Haq Majaz ?

frafafaa ® 9 S90es §F A9TH FTFT57 GA F19 97 22[Question ID = 12356]
1. Aahang/#T=7 [Option ID = 49422]
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2.

3.
4.

Daste Saba/Z+ #aT [Option ID = 49423]
Gul-e-tar/I#-7-a7 [Option D = 49424]
Surkh Savera/dg4 47T [Option ID = 49425]

56) Which of the following terms is true about the concept of communalism?

FIFRTRAFAT #T AqgTIo 3 Ik ¥ fFufafaa § @ $77 971 57 98 §2[Question ID = 12357]

A

2.
3.

4.

It is not about politics, but about religion./Tg YT ITT & a1 W 781 &, A% G0 % a7 ¥ ¢ [Option ID = 49426]

It is present all around the world in similar manner. /T2 T /47T ¥ 7079 97 @ #7152 & [Option ID = 49427]
It constructs large and diverse groups which is singular and homogenous in nature. /7 =T =715 F =rf=rra Feam § 72775 & 94f497 £ v ag7 &

=177+ & [Option ID = 49428]
It is deeply related to personal faith of an individual and is very subjective./7Z 7= i fafar @zt 1 FwTr F7a71 & 7 wrfa+ =7 7 vF =7 9957 219

Z [Option ID = 49429]

57) which of the following statements are not correct?

a. The infant mortality rate is the number of deaths of babies before the age of one year per 100 live births.

b. The maternal mortality rate is the number of women who die in childbirth per 1000 live births.

c. Life expectancy refers to the estimated number of years that an average person is expected to survive.

In the light of the above statements, choose the correct answer from the options given below:

frafafaad @ s arsaaadradi g ?

a. g g ITITaIFI ey AT deaTaafdt § Mg dargr 100 agid F uraf T arg wra 1 | g T ey Er AT ¢
b. AT { I IF FHAT 1 o #1 d&q7 qofdt § 51 shifaa vqgfar & 1000 ATHT / (0= g FT 779 F QTG g ATAT ©

c. &g wwrfaar @ areed v srag sHf*F aqgaraa: Fad af a fifya @m

ITU® AT 3 dad &, 19 Aoy fAFeat § & agt STCHT 997 F:

[Question ID = 12358]
1. (a) and (b) only/F3 (a) 57 (b)

[Option ID = 49430]
2. (b) and (c) only/F= (b) @7 (c)

[Option ID = 49431]
3. (a) and (c) only/F3 (a) 37 (c)

[Option ID = 49432]
4. All (a), (b) and (c)/=4t (a), (b) =7 (c)

[Option ID = 49433]
58) Which of the following statements is correct with reference to the concept of social group?

ATATIF G g FT AT # g # frafafaa & & 17 a1 F97 9€ §2[Question ID = 12359]

. There are common norms and values. /HTHT=T HTTH.] 17 =41 £ [Option ID = 49434]
. Patterns of interactions are dynamic./s=:TFarsi F wiasfi=r wFw= 29 £ [Option ID = 49435]

1
i
3. People always have diversified interests. /AT % gHem f&Afaw 27 29 & [Option ID = 49436]
4. The structure is not definable. /f7==T 9frarfua 721 & [Option ID = 49437]

59) What is the name of a market village located deep in the hinterland of North Bastar district, Chattisgarh?

I FEq< o, gdtawe & Aadt garwi & 9T F IIATT AT FTATH FHT §2[Question ID = 12360]

1. Majhgao/w=iF [Option ID = 49438]

2. Dhorai/=T#Ts [Option ID = 49439]

3. Nakarattars/7%7=7 [Option 1D = 49440]
4. Ajmani/=sTt [Option ID = 49441]

60) Studies indicate that the perceiver plays a key role in the process of perception. The main reason behind different
ways people process the same stimuli can be:

HeggAT & dRa frar g o weaaw Y wfFar & goagusaf os ggeagef gfysr frarar @ St grer gty StwAre s garfaa

Fa & fafws adist & 2 o7 F1Tw 78 g7 99471 2:[Question ID = 12361]
1. Functional factors/Fma=9%F F17F [Option D = 49442)

2. Phi-phenomenon/®Tz-7=4T [Option 1D = 49443]

3. Figure and ground/=TEfF == 51f# [Option ID = 49444]

4. Cultural Background and Experiences/@Tegfa T9f# ity sry99 [Option ID = 49445]

61) It has been found that Examination Anxiety can adversely affect the performance of students. Suppose a study is
conducted to validate this finding and correlation between ‘Examination Anxiety’ and ‘Performance’ is calculated, which of

the following correlation confirms this finding:
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g a1 747 g P ohar & [Har grat & veds oo afvgs gvara ere g5dt @ wra Aifvre % o Fowd s arrar 5@ @ o os
Feaga ForgT sraT € v et fHar ot weda & €= ggdady 1 woraT A St 8, rafifae d |/ stv aragEd g s @

qf® w7ar g:[Question ID = 12362]
1. 0/0 [Option ID = 49446]

2. -0.41/- 0. 41 [Option ID = 49447]

3. 2/2 [Option ID = 49448]

4. 0.60/0.60 [Option 1D = 49449]

62) The most influential way with which a teacher can inculcate moral values in his/her students is by:

uF farers srow AT ® AT o7t 7 A5a $33 7998 wqra g7 a7 8:[Question ID = 12363]

1. Narrating moral stories/afa# FzTf==t {71 [Option 1D = 49450]

2. Punishing for immoral behavior/#=TaF =7az1 % =7 2 247 [Option ID = 49451]
3. Practising moral values herself /=3 #Ta#® g1 FT =19 F747 [Option ID = 49452]
4, Discussing moral issues/ATa® 721 7 =7 [Option ID = 49453]

63) Which of the followings is/are the factors of the expansion of the public sector?
a. The failure of the private sector in certain crucial areas.

b. The monopolistic exploitation of the society by the private sector.

c. The demand of economic justice.

d. The need for accelerating the pace of economic growth and achieving goal of development.

Choose the correct answer from the options given below:

frafafag 1ol @ 8 19 17 F 10 grdafas a7 P g oo sawr §2

FE Agca U &A1 # fAst &= # FRreear
sl &= gy 99T F7 uHTiUrFTETd aryor

awrfd= =gr7 AT ATT
. g fFsra FT 7T 7397 F3 T AF19 F 987 FY 97T FH FT AOFITFHAT

= feT g fFwedt # @ agt sac g+

[Question ID = 12364]
1. (b}, (c), and (d) only/F=+ (b), (c), =7 (d)

an oo

[Option ID = 49454)]
2. (a), (b), and (c) only/Fa= (a), (b), &7 (c)

[Option ID = 49455]
3. (a), (c), and (d) only/F= (a), (c), #i¥ (d)

[Option ID = 49456]
4. All (a), (b), (c), and (d)/=dT (a), (b), (c) 37 (d)

[Option ID = 49457]

64) Which of the following is correct expression for Net Investment?

foraw g & fore frafeafRaa & 9 st 8 afrsa e a8t 82[Question ID = 12365]

1. Net Investmen t= Gross Investment + Depreciation/ & f=rer = o fFaer + Tz [Option 1D = 49458]
2. Net Investment = Gross Investment / Depreciation/ffa= e = ?ﬁ‘-{ﬁ%&r { g=9g19 [Option 1D = 49459]
3. Net Investment = Gross Investment x Depreciation/fFa= 3 = 5= 397 x T=rz1 [Option ID = 49460]
4. Net Investment= Gross Investment - Depreciation/fFa= for = o Faer - g=45T9 [Option ID = 49461]

65) Which of the following ratios are taken into consideration by a banker before sanctioning the business loan?

I T[T A @ g a5 g0 afrfya & & frd sgara w71 377 & @1 A797 82[Question ID = 12366]

1. Debt-Equity Ratio/==™ F#a7T 917 [Option ID = 49462]

2. Stock-Turnover Ratio/&=iF-=3447 919 [Option ID = 49463]
3. Proprietary Ratio/#Tfer=TT srre [Option ID = 49464)

4. Interest Coverage Ratio/=1Ta Fa4 #9719 [Option 1D = 49465]

66) Who is the author of the book ‘Dimagi Gulami'?
AT AT (AT d AGF FITE?

[Question ID = 12367]

1. Baba Sahib Bhimrao Ambedkar / aTaT ATET dHTg AEEEET
[Option ID = 49466]

2. Rahul Sankrityayan / T84 @199
[Option ID = 49467

3. Atal Bihari Vajpaye/s= =gt araa4r

[Option ID = 49468] .
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4. Rabindranath Tagore / ¥favsaTd 27
[Option ID = 49469]

67) Consider the following pairs:

a. Chilika lake- Odisha

b. Sardar Sarovar Lake-Telangana

c. Nagarjuna Sagar Lake- Jammu and Kashmir

d. Wular lake- Gujarat

Which of the pairs given above is/are correctly matched?
Choose the correct answer from the options given below:
frafafaa s oz R st

a. fafersr #tw- arfear

b. WIITT AT HHA- FHTTAT

c. ATTHT ATALT HTA- TR ;T FIHIT
d. AT HA- [ICA

FUTCITTE FIT T TrETaT gt gafoa g2
= g o fweqt F @ 9t ST 9T fifvg

[Question ID = 12368]
1. (a) only / =+ (a)

[Option ID = 49470]
2. (a)and (c) only / F9 (a) 37 (c)

[Option ID = 49471]
3. (b). (c) and (d) only / Fad (b), (c) #T (d)

[Option ID = 49472)]
4. (a)and (d) only / F9 (a) =7 (d)

[Option ID = 49473]

68) Read the information given below and answer the question that follow:

(a) In a family of six persons P, Q, R, S, T and U, there are two married couples.
(b) S is grandmother of P and mother of Q.

(c) R is wife of Q and mother of U.

(d) U is the grand-daughter of T.

How is R related to P?

Choose the correct answer from the options given below:

= & 7 JrAFETd F1 0 e RuarygwsrIac

(@) P, Q, R, S, THTU tx afa & &: geer ¢ forad Sy darfgs e
(b)S, PEFT TSI g rx QAT ATATE .

()R, QFTqAT g sltT U AT HTATR .

(d) U, THFT9TdT 8

R, P & frg yw1e & wra fyg €7

= feT o fywedt § 4 9g ST 97T ffvT

[Question ID = 12369]
1. Daughter /=T

[Option ID = 49474]
2. Grandmother /ZT5T

[Option ID = 49475]
3. Mother /HTET

[Option ID = 49476]
4, Sister /989

[Option ID = 49477]

69) Compare the knowledge of persons X, Y, Z, A, B and C in relation to each other:
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I. A knows more than Y.
Il. Z knows less than C.

lll. Y knows as much as B.
IV. X knows more than A.
V. C Knows less than B.

The best knowledgeable person amongst all is:

X,Y,Z, A BT C=afwal # ¢ gt & av« (4T I79 F1 AT
l. A, Y® fers sraar &

. Z,CH FHJTAAT &

. Y STATET JTaa7 & Foraar 1 B

IV. X, A® ot STAar 8

V. C,BE FHATAATE

TR ¥ g9 FTgS ArH1C A 9 82
[Question ID = 12370]
1. Y

[Option ID = 49478
2. X

[Option ID = 49479]
3. A

[Option ID = 49480]
4, C

[Option ID = 49481]

70) One day, Raja left home and cycled 10 km southwards, turned right and cycled 5 km and turned right and cycled 10
km and turned left and cycled 10 km. How many kilometres will he have to cycle to reach his home straight?

u# faa, T ® fAasar shT 10 km 2fErow 7t v arefra g@rg, 799 913 21¢ ET e 5 km grgfea ga18 st fee ard gz
7T 3T 10 km ATEFFe IS AT 9P 72 97¢ {F 747 T 10 km grefere ga1 9@ €9 97 9T ag= & forg fvas
rerdteT arefFe sar+t 19 ?[Question ID = 12371]

1. 10 km /10 km [Option ID = 49482]
2. 20 km /20 km [Option ID = 49483]
3. 15 km/15 km [Option ID = 49484]

4. 25 km /25 km [Option ID = 49485]

71) What was the day on 26" January 19507

26 FTFLY 1950 FY HY7 77 f&T 91?[Question ID = 12372]
1. Thursday/T=a17 [Option 1D = 49486]

2. Friday/s#%=17 [Option ID = 49487]

3. Saturday/¢rfH=TT [Option ID = 49488]

4, Tuesday/#H7=41< [Option 1D = 49489]

72) A bag contains 2, 5 and 10 rupee coins in the ratio 5:10:4, amount to Rs. 300. Find the number of coins of each type
respectively.

THFITH 5:10:4 % srQuTa 7 2, 53T 10 T0F B P g, B 57 wfr 300 = 2 Brad g5 v # gyl Y deg7 wwa: 19

#1377 [Question ID = 12373]

17, 29, 16/17, 29, 16 [Option 1D = 49490]
10, 40, 10/10, 40, 10 [Option ID = 49491]
15, 30, 12/15, 30, 12 [Option 1D = 49492]
30, 14, 19/30, 14, 19 [Option 1D = 49493]

P s B

73) If “DEAD"” is coded as 5485 then how can “GAGE” be coded?

& “DEAD” ®Y 5485 % ®T H FIfed fFATATAT &, T “GAGE” FT & F1f¥d FaT 77 wha1 §2[Question ID = 12374]

2824/28124 [Option ID = 49494]
2934/2934 [Option ID = 49495]
1824/1824 [Option ID = 494596]
2814/2814 [Option ID = 49497]

o bl B —

CM, MDN,
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1 A7 gEar 7, g F e FY39@ g, AT F dq F Frew eqva # fF FT JAK, KBL, LCM, MDN, [Question

ID = 12375]

NEO/NEO [Option ID = 49498]
. OEP/OEP [Option 1D = 49499]
MEN/MEN [Option ID = 49500]
PFQ/PFQ [Option ID = 49501]

bt ) =

75) In this question, a statement is given followed by two courses of action numbered | and Il. Analyse the problem and
then decide which of the courses of action logically follow.

Statement: People residing in some tribal areas are far from education.
Course of Action:
I. Schools for children and adults should be opened there.

Il. Social workers should be entrusted with the job of educating them.

TEYTH, THFT D forg Sy wrdardt #91% | Tl S vt g | waear 1 Ageow R g S Faaar sdarfr srarfcs s
&/ FgaTw gl

FIT: {F Afeardt @A F g are A farar | g

HTE AT

| g TFT AT TET & forg e &@re AT |

Il graTiors Frdwaf el £ 378 frfira s srHrgafarsTararfywl

[Question ID = 12376]
1. Only | follows /Fa# | STAZT F7AT &

[Option ID = 49502]
2. Only Il follows /3 || FHTT F7a7 &

[Option ID = 49503]
3. Both I and Il follow/| =% || Z14T AFH70 #7472

[Option ID = 49504]
4, Neither | nor Il follow/7 & | == 7 &1 || A0 F7a7 &

[Option ID = 49505]

76) There are three assumptions given for the following statement. Which assumption is implicit in the context of given
statement?

Statement: The Company has recently announced a series of incentives to the employees who are punctual and sincere.
Assumptions:

I. The productivity of the company may increase.

Il. The profit earned by the company may be more than the amount to be spent for the incentive programmes.

lll. Those who are not punctual at present may get motivated by the announcement.

frefafaa s @ Rfrgdta gdFareomd S adt 12797 § S17 9T gaaead R T s @ g2 7 siafqfRag ?
FYTFTATT GTAETH GHT R ITH S AT EATAITCFH AT FTHE TIeATEA A FTIIIUTH T2 1

T T

I FHY FT ITATIFATIZ THAT 2 |

Il FHT ZTLT AT ATH Tea18T FTIFAT & Forgad 1 91+ et wfr a sfarw grawar gl

N ST AT aFATH 997 R e AT 8, T oo & g grawa g

[Question ID = 12377]
1. 1l and Ill are implicit/1l &= 1l saFRET 2

[Option ID = 49506]
2. land Il are implicit /1 &7 || FAFRET &

[Option ID = 49507]
3. All are implicit/=+t #afffza &

[Option ID = 49508]
4. | and Ill are implicit/| i Il sEAFRET &

[Option ID = 49509]
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77) Read the given statements and conclusions given below and choose the most appropriate answer from the options.

Statements:

1. All students are writers.
2. All writers are men.
3. Some students are painters.

Conclusions:
I. Some painters are students.
Il. Some writers are painters.

lll.Some men are writers.

= faw o w997 stz fasewt &1 ofyg st A= R g Fwedt & § 98 Iogs ST 997 fifvg

EC

1. gadtgrdEs g
2. gHTdET qEN g
3. FFETT AAFCE

frew:
. 8 REscar g
. fg aEs AIHFT

. §F (€7 GF ¢

[Question ID = 12378]
1. Only | and Il conclusions follow statements/Fa | =7 || e, w91 #7 99770 #7942

[Option ID = 49510]
2. AlLL, 1l and Il conclusions follow statements/=+T |, || &1 ||l =, F=71 FT ATATT F79 7

[Option ID = 49511]
3. Only | and Il conclusions follow statements/F== | &7 1| A, F9=7 F7 47877007 574 F

[Option ID = 49512]
4. Only Il and Il conclusions follow statements/Fa= || =7 ||l T, F4=7 FT 777 F77 2

[Option ID = 49513]

78) Given below are two statements: one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Agricultural income is taxed by the Union Government.
Reason R: Agriculture is a State subject.

In the light of the above statements, choose the most appropriate answer from the options given below:

= A FITRTICE: tF FT ATFIT ANITELFT FOUR S €THF a7« FHIT7ATR/
AFFIT A TN AT IR FHICGIU FLANTITATAT R |

FUR: A TsaFT AT

ITUT A1 & gad 7 A2 oo fAFveaf & & gaffas srgs ITTHT 999 5L

[Question ID = 12379]
1. Both A and R are true and R is the correct explanation of A/A @< R 2T =g £ 4= R, A it 718t =r=ar F7a71 &

[Option ID = 49514]
2. Both A and R are true but R is NOT the correct explanation of A/A 5T R TT 777 § =17 R, A &7 921 =ATEAT 771 F44T §

[Option ID = 49515]
3. Ais true but R is false/A 777 &, T R /977 &

[Option ID = 49516]
4, Ais false but R is true/A s g ST R aw &

[Option ID = 49517]

79) Given below are two statements:

Statement I: Severe Acute Respiratory Syndrome (SARS) is a digestion illness caused by a corona virus called SARS-
associated coronavirus (SARS-CoV).

Statement IlI: Coronavirus disease (COVID-19) is an infectious disease caused by a newly discovered coronavirus.

In the light of the above statements, choose the most appropriate answer from the options given below;
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= Y FgTfRgacE:

Ha9 | AEraT gz REeh s Fraararad (SARS) TF qra7 g5 6 1718 § ST SARS & (2 HITATa74H (SARS-CoV)
ATHF HITATATICH B FIITZIATR |

FYT II: FIAATATITH AT (COVID-19) TF GHTHF QT T AT FIAATATICH B FILUIAFA G2
STUT FIAT ® g |, A2 fRuaeFFeq & @ qaf (s I7g® ITTHTIIT F:

[Question ID = 12380]
1. Statement | and Il both are correct./F97 | #v F99 || ST AT &

[Option ID = 49518
2. Statement | and Il both are not correct. /4 | &7 F47 || T 77 781

[Option ID = 49519]
3. Statement | is correct but statement Il is not correct./F99 | 79 & =T F97 || 97 Fl?ﬁ 7

[Option ID = 49520]
4, Statement | is not correct but Statement |l is correct/F99 | AT A2 2 dF FaT || H0 &

[Option ID = 49521]
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